ADDITION WORD PROBLEMS
SINGLE DIGIT ADDITION

NAME: CLASS:

Solve the following addition word problems.
Show all your working_out.

Aanya has 4 apples and Arnav has 3 apples. How many apples do they have
together?

Deepika bought 6 stickers, and Suresh bought 2 stickers. How many stickers do
they have in total?

Manish has 3 pencils, and Rohit gives him 5 more pencils. How many pencils does
Manish have now?

Kavya collected 7 seashells at the beach, and Aditi collected 4 seashells. How
many seashells did they collect altogether?

Arjun has 5 chocolates, and he gives 2 chocolates to Priya. How many chocolates
does Arjun have left?



Neha has 3 rupees and Rishi gives her 8 rupees. How many rupees does Neha have
now?

There are 4 birds on a tree. Later, 3 more birds join them. How many birds are
there on the tree now?

Surya has 9 balloons. He gives 3 balloons to Veena. How many balloons does
Surya have left?

Sakshi has 2 books and Simran has 6 books. How many books do they have
together?

Karan planted 5 flowers in his garden. His sister, Anjali, planted 4 flowers. How
many flowers did they plant in total?



